Test 1: Trigonometry Version A
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L (3 points) Given the n ht-augle triangle below. determine the following trig ratios
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(b) cos B = (Zé(&g
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2. (2 points) In your own words, explain what the two symbolic statements mean

sin(32°)  and  sin”'(0.4)
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3. (3 poinis) Find the \l\,LI ll acute angles for the folloy
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4. (2 points) Find the missing side lengths of the triangle.
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6. (3 points) You stand 500m away from where a hot air balloon lannchwd from b gl Carrently the
angle of elevation between vou and the balloon is 60°. bt w3 pnnnles the angle ol elevation will he
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62°. Assuming the balloon is rising straight up. how tar will it have tavelled i {hinsic 5 rontes”
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7. (3 points) Determine the angle. ZABC, that is made when the points A(1.3). B(2, 1). and (7(5.0) are
connected with straight lines.
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8. (4 points) Determine the area of a regular hexagon where the length of each side is 2cm. [Area of a
triangle is %(base x height)]
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(141 points) Given that:
() AABC

-ABCD. and ABEF are similar (all their angles are the same)

(1) the pomt F biscets BD (divides it in two equal halves).
(i) AD =10

What is the minimum information you need from AABC to determine the length EF in the fewest
steps? Justify vour answer by making np any neccessary numbers (estimate reasonably) and solve for

Kl

Note this question is out of 4. but possible to earn 5.
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